
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/DEC22/1 All prices exclude GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  G2TMK-A/B WITH 2.2KW ELECTRIC MOTOR  

Cat EA9H      (single phase)  

Position 
Part  

Number Qty Description 
List 

price 

04 F143  1 Wear Disc  $134 

05 6060 1 OR 4625 (158.3x3.53)  $6 

06 P297 1 Counterface 27-52-10  $65 

07 H397 1 Mech. Seal 25-47-14  $46 

08 6030 1 Flex. Gasket B 2587  $13 

09 F156  1 Stainless Steel Key B 4x4x16 UNI 6604  $7 

10 F158  4 SS Screw M12x25 UNI 5739 $12 

11 F159  4 Washer Ø5 $7 

12 F818 8 SS screw UNI 5931 M5x10   

13 H048 1 Washer Ø13 UNI 6592 $5 

14 F103 1 Stainless Steel Nut M12x1.5  $15 

Position 
Part  

Number Qty Description 
List 

price 

01a F155  1 Pump Casing  $1,039 

01b 8913 1 Valve Body B2KQ-A  $326 

01c  H631 1 Complete Check Valve   

01d 6186 1 Flex. Gasket  33-39-2   

01e F555  1 Tap AISI 316 1”G  $123 

01f F135  1 Conical Tap ¼” Gas  $24 

01g 6237 6 Hex. Head Screw M10x20 UNI 5739  $6 

02 F162  1 Bronze Impeller  $719 

03 H244  1 Complete Motor  $1,596 


